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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 
June, 2018 

ELECTIVE COURSE : PHILOSOPHY 

BPY-008 : MODERN WESTERN PHILOSOPHY 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all five questions. 

(ii) All questions catty equal marks. 
(iii) Answers to the questions no. 1 and 2 should be 400 

words each approximately. 

1. Trace the varying connotation of the term 20 
'substance' in modern Philosophy. 

OR 
Critically examine the proofs for the existence of 20 
God considered by Leibniz. 

2. Analyse Locke's theory of perception. 	 20 
OR 

Write an essay on Kant's 'categorical imperative'. 20 

3. Answer any two of the following in 200 words 
each approximately : 
(a) Briefly explain how renaissance changed 10 

the aim and the method of philosophy. 
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(b) Write a critical note on Descarte's method. 10 
(c) Does Hume deny difference between 10 

consequence and constant conjunction ? 
Explain. 

(d) Distinguish between Absolute idealism and 10 
solipsism. 

4. Answer any four of the following in 150 words 
approximately : 
(a) What was the impact of humanism during 	5 

renaissance ? 
(b) Explain briefly the meaning of dialectic 	5 

method. 
(c) Distinguish between substance and mode. 	5 
(d) Why is Locke regarded as an inconsistent 	5 

empiricist ? 
(e) Give a summary of Hume's attack on 	5 

religion. 
(f) Do you think that Comte's attempt is a 	5 

failure ? 

5. 	Write short notes on any five of the following in 
100 words approximately : 
(a) Criticism in modern Philosophy 	 4 
(b) Falsifiability 	 4 
(c) Innate ideas 	 4 
(d) Law of sufficient reason 	 4 
(e) Esse Est Percipi 	 4 
(f) Apriori and Aposteriori 	 4 
(g) Noumenon 	 4 
(h) Meaning of positivism 	 4 
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